You work at a café.
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$15

Sandwich Coffee

$6.00 $3.50 |

Pancakes Orang Juice

$1.00 $3.00 Fruit Parfait
Donut Tea $8.50




You work at a café.
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Total cost Money you got Change

¥ 1000

1000 M= g 1000
BERTH ‘.[;
FM L
on__ il

¥ 1000

1000 Mmm— 1000

BERTS "f‘
FM A

s Pl N

¥ 1000

1000 M g 1000
BERTH ‘.L’:
FH &
m__ i

¥ 2000

f E® 8 -
: ‘ 10001 1000 mmmm— 1000
@, v AR “Fl FA <
\ \ F§ FH >
A ‘ s tm

¥ 1500

1000 ME—
BERGS B

FH

¥ 550 (> ¥ 400
Sandwich Coffee

¥ 600
Pancakes

¥100
Donut

¥ 350
Orang Juice

¥ 300 Fruit Parfait
Tea ¥ 850




@ orders &

You work at a café. A customer orders. What is the
total cost? How much change will you give back?

Total cost Money you got Change

$5 $10 $5

% $10 | $0 | $0

$8.5 $10 $1.5

$18 $20 | $2

$10.5 $15 $4.5

$5.50 ’— § $4.00
Sandwich Coffee
$6.00
Pancakes

2\ $1.00
Donut

$3.50
Orang Juice

$3.00 Fruit Parfait
Tea $8.50




orders

You work at a café. A customer orders. What is the
total cost? How much change will you give back?

Total cost

Money you got

Change

G =

400 ¥100

¥ 500

¥ 1000

1000 1000
BERES ‘%T\

SEH ;;

¥ 500

9%

400 ¥600

¥ 1000

¥ 1000

1000 1000
BERTS ‘ \

*H <
)/

¥0

¥ 850

¥ 1000

1000 1000
BERTH ‘17\

FH ;;

¥ 150

¥ 1800

¥ 2000

100014 1000 1000
B BFERTH 37
¥ FA <
?/

¥1050

¥1500

1000 »
BHRTH

FH

¥ 400
Coffee

¥ 350
Orang Juice

¥ 300
Tea

Fruit Parfait
¥ 850
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